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(111) In case of compound mterest what i
" formula for amount if i mterest is compou
half yearly ?
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(Vl) Choosc ythi correct answer
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‘ Gt \The slope of the lme passmg through th
pon e or1gln and the point (4, 3) iS i
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(vu) Deﬁne ﬁmctlon of a smgle varlable e
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The varrables assocxated wrth a l1near -
- programming problem are called _—
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2 Answer the followmg questlons
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(a) Each of 20 persons drmk tea or coffee 16
i ok tea, 4 drink both tea and ‘offecs
; :" : 'Deterrmne the number of persons who drmk
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(b) For What value of K the followmg serr
will be in arithmetic™ progresswn i
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(b) Fmd the presam value of Rs
6 years if the mterest rate 1s 7%
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(c) In how many ways a ‘group of 3 astrona .f

~can be selected from 5 Indian astronauts an

4 Russian astronauts so that each gru g
contains - at least one Indian and

: Russmn 2
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i (a) A manufacturer produces 3 P
. C which
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roductsA B and

are sold in Delhi and. Kulkatza g

annual sales of these products at@

| If the sellmg prtce of products A, Band C

“per unit be Rs “Rs. 3 and Rs. ho

“respectlvely calculate the total revenue in
.
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A person mvests Rs. 10,000 ina busmess and
earns Rs. 500 per year. An investment o
- Rs. 20,000 would yleld an income of

,Rs 2,000 per year. Fmd the lmear relatlonshlp ;
| between investment (x) and annual income (y) o

What would be 'the annual mcome on an
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(11) The total cost ﬁlnCtIOIl C(x) of pro
X 1tems 1s given ' by

" C(x) 1500 i 5x ‘when O = x = 500
: ~3000 =+ 4x, when 500 <x<20

4 Fmd the cost of producmg (1) 450 1te M
- and (ii) 1500 WBms/s 9 o 1
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- (b) Find (i) the average revenue functlon andﬁ,y
(u) the marginal revenue functlon for the

ik . following total revenue functlon (R) Evaluate il

o them at Q=2 and Q - g
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-Where X ‘denotes the number
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